oL o] FE4l ol = S A A ¢ 874 B 7F Ut 854 A =
7283 16000 ¥l 10 £ T8 252 18 ¥oli, 854 B =
71295 12000 Yol 10 2 F3F8F-2 x oot S o 70 B F
Sfot= AFE2 854 B 7t f-elstal, g 2ol 90 & F3toh= AP
QFAA T, x 2 HY a<x<b ol K5, a,b E 25
A 2} o) A ¥kl sho] Lrerdjoj et



| —

2-14x
2. > =813+ o] JHSIE = x = AT o, th2llA x

ol

m(
o

4
e

1o
O W

Do @1 ® 2 @ 3 ® 4



1 9] wj57} ek gk o] w), 2pad o o] HAghe

1)
1

e B



4.  3"(3"+1) = 2430 = W=St= FO A m, n ol st mxn o
= Fstofet.

D
=%



x = o\?j]_ . 1
x*xy & el O]ﬂ,a:O.S,b:0-3,C:£vd:
33
x#yo|H -1

020, e= 5 v, b2 g Fojolet

(bxc)* (axd)*(bxe)




6. AAFnol st nl = 1x2x3x - xn 22 HoJgt,
n 2 = st

&=
=%



a—1 a

1 _ —
5 +3<§%1fq1,ax+3<3a+x94 = =EH?

@ x<3 @ x>3 ® x<-3
@ x>-3 ® x<1



8. a,b,c%ﬂ“—‘.—é%37ﬂ9’]394ﬂﬂz’:o]q'?Sa_csy%]uﬂ’

a+b+co e Faiolat



